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Rt 1 B EEHONEY AN E4815 57, 000 57,500 | A 0.9
B 2 E e TEESENT 1387F 59, 500 60,000 | A 0.8
Rt 3 & T B ECRT T ARA41083F 14 38, 000 38,100 | A 0.3
P TiC] 4 E R & L 0 B ECET T E39 149 22 50, 500 - -
B 5 & T AT TR 46353 36, 900 37,500 | A 1.6
=+ 6 & T A AT 15579 41, 600 42,000 | A 1.0
B 7 E e 25711 57, 700 58,200 [ A 0.9] E)ET1 1 —1 2]
T 8 B T 2 RETE795 52, 500 52,700 | A 0.4
B 9 B L E RN 76022 64, 800 65,000 | A 0.3
R 10 & LE e R AR 3757 15 48, 300 48,500 | A 0.4
B 11 & LB T/NRTRR %1638 194 45, 000 45,200 | A 0.4
] 12 B /N R TR 59189 54, 000 54,100 | A 0.2
T+ 13 B A O RT812%: 66, 000 66,700 | A 1.0
B 14 e TR R A857E4 42,600 43,100 | A 1.2
P e 15 & LE R RS A 9897 11 46, 700 48,000 | A 2.7
] 16 wLEEmE LR 8463F 53, 500 53,700 | A 0.4
T+ 17 & AR T AAS678% 1 18, 500 19,200 | A 3.6
= 18 =L E AT LRI 1001253 14, 800 15,200 | A 2.6
B 19 & Al LR AR 436784 21, 400 21,900 | A 2.3
] 20 & BT /NR T RE24947F 1241 29, 200 29,800 | A 2.0
B 21 & T M T AR 17997 38 24, 800 25,200 | A 1.6
= 22 B LE T AREEA 38482 34, 500 35,200 | A 2.0
Rt 23 B E T AT 2 NT10%6 23, 000 23,500 | A 2.1
B 24 & L PR AR T T4 10 23, 000 23,500 | A 2.1
B 25 B E BT %G 38908 11 19, 100 19,700 | A 3.0
RN 26 & e T B TR AL394472 7, 800 8,000 | A 2.5
B5+E 5 1 WL TR T 162354 81, 000 82,000 [ A 1.2| TKERT1 3—6 |
BHtE 5 2 B EEHONIY A E6915E 59, 400 60,000 | A 1.0
B5+E 5 3 = E T EAT643% 15 60, 300 61,700 | A 2.3] TPHHT 7 — 6 |
B5+E 5 4 e 1621% 164k 72, 100 72,800 | A 1.0| T8RKT 2 —1 4 |
BHtE 5 5 ‘g E T Rl 150 %54+ 95, 600 96,500 | A 0.9] [HET4 —9 |
gL 9 1 & LB/ NR TR 84331 30, 300 30,600 | A 1.0
gL 9 2 & L L E T T R2260% 340 27, 700 27,900 | A 0.7
i 1 P \WEE 5 151194726 37, 200 37, 200 0.0
e 2 AT ) 1 28 7 B K e 1 118278 33144 48, 200 48,600 | A 0.8
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P 5 2 FHRETON2T HI1%E 165+ 77, 000 77,800 | A 1.0 o2 —6— 3]
G 5 3 R RN 52437 86, 900 87,500 | A 0.7| T¥RAERT3 — 2 |
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FHE 5 5 AT T L TR 18147 144} 84, 400 85,400 | A 1.2

i H 1 555 FH T B 0 2 2 T R 1307865 59, 700 59, 400 0.5
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I H 5 AR R 11177624 56, 400 57,000 | A 1.1
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5 11 = E TR R R 7561 %45 66, 500 66, 500 0.0

BH 5 1 EHTAMET T H8406%1 71, 600 72,400 | A 1.1

BH 5 2 EHTTAR2T H4%4 93, 500 95,000 | A 1.6

BH 5 3 = SRR 397 1 52, 000 54,000 | A 3.7

BHE 5 4 B AR BT 52 | L i 3565059 37, 600 39,000 | A 3.6

BHO9 1 J25 H T BT 20937 1 32, 000 32,300 | A 0.9

Bt 1 B LTE BT RIE8163 15 63, 600 65,300 | A 2.6

RS 2 = AR TR 31720 78, 800 78, 800 0.0
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Bt 6 s EhifciETE-F E7E19 64, 800 65,200 | A 0.6
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Bt 10 L) | T 1673824 65, 000 65,500 | A 0.8] rsisnre —2 2
Bt 11 B T SERT 420 A 117,000 | 117,000 0.0

Bt 12 & L IS T 1553 97, 000 97, 000 0.0

Bt 13 B i R R I 3437 265 61, 600 61,900 | A 0.5
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Bt 15 b )| T 46 % 66, 800 67,300 | A 0.7
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Bt 17 BT SR A T 19758 1 40, 100 41,600 | A 3.6

Bt 18 & LR 513887165 73, 500 74,000 | A 0.7

Bt 19 & = R ORIRI2E 11 52, 400 53,300 | A 1.7

Bt 20 L E R E R 1387812 69, 200 69,400 | A 0.3

Bt 21 &L NP KE F304%3 67, 600 68,500 | A 1.3

Bt 22 e B AT 102550 71, 300 71,500 | A 0.3

Bt 23 & L R 1461726 60, 400 60,500 | A 0.2

RS 24 & LR T 10153 164 70, 300 70, 300 0.0

[ 25 b e K ) 1| 3785 18 99, 800 99, 800 0.0

Bt 26 B R AR SR 497 1 14h 84, 500 84, 500 0.0

Bt 27 &R S EE R 1192715 79, 200 79, 200 0.0

=+ 28 & LW S ET80E 4 86, 200 86,800 | A 0.7| [FRHENT 6 — 8 |
EEn 29 & L 2 T T 36597 5 55, 800 56,500 | A 1.2

=+ 30 & LT FE A B TR 5 28367 3 34, 800 35,300 [ A 1.4

R 31 & LA AT 537766 41, 600 42,500 | A 2.1

Bt 32 & L s T #1273 1 56, 000 56,600 | A 1.1

=+ 33 & TR TR 28557 3 42,700 43,500 | A 1.8

Bt 34 & A PR ER5975 2 35, 700 37,000 | A 3.5

5t 5 1 & Ll B T334 61, 300 63,200 | A 3.0

Bt 5 2 ‘= L eT3743%7 93, 200 94,000 | A 0.9| T5cHT1 7—1 3
'Lt 5 3 B L7388 96, 200 97,000 | A 0.8] I'E+HT1 4— 6
5t 5 4 EENNGTINCES 114,000 | 115,000 [ A 0.9

5t 5 5 & AT T E /A 125328 93, 000 93,500 | A 0.5
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Bt 5 - 8 B ART30% 11 98, 200 99,200 | A 1.0 TAKT10—1 7
5t 5 - 9 E e kR3S 55, 400 56,600 | A 2.1
5t 5 - 10 & LT e R 133 14 72, 100 72,800 | A 1.0
'Lt 9 - 1 & LA RTAE ) KR617E 25 35, 000 36,300 | A 3.6
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#2 - 1 2 T [ 5 R 275 16 82, 200 82, 200 0.0
Y - 2 BT 2 E 168119 77, 500 76, 200 1.7
#2 - 3 A T PR TR P 3035721 54, 700 55,300 | A 1.1
#2 - 4 M e T2 T H 2% 15 73, 600 72, 800 1.1
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A H - 6 A TR SR AT 14756 57, 000 59,400 | A 4.0
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#E - 8 A P T AR T KA EF5096 7 1 16, 300 17,600 | & 7.4
#2 -9 2 7 4 HH 9 s o 685752 30, 500 30,900 | A 1.3
HE - 10 AW kR 1678 241 53, 000 53,100 | A 0.2
HE - 11 A2 T R R S T AT P 11219884234 39, 300 39,500 | A 0.5
A2 - 12 A2 B SR HE 798 %5 2 34, 600 34, 600 0.0
#2 - 13 A2 H T i FH - SFRIB 710K 7 39, 600 39,800 | A 0.5
A2 - 14 T A4 T 746545 32, 000 32,800 | A 2.4
2 - 15 A2 T R TR — 5720627 18 33, 400 33,900 | A 1.5
#E - 16 A2 B T ] T P 064 7 1 27, 600 28,600 | A 3.5
A - 17 A N 120954 45, 400 45,500 | A 0.2
#E - 18 A T P AR 48303731 41, 300 41,500 | A 0.5
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W 5 - S[EEE|EWHTA P T AER22E 14 71, 200 - -
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BH 9 - 1 A AR TIRN 12053 21, 000 21, 000 0.0
e - 1 BEFETHER b4 T H 12%3 67, 000 70,200 | A 4.6] B4 —12-24
BEH - 2 BEH T e T He &1l 70, 000 72,500 | A 3.4| M2 —8—2 3
BEH - 3 e T AL A T 28 2 104} 41, 000 44,500 | A 7.9
BEH - 4 BEEET v/ MI127T B4%10 72, 700 75,600 | A 3.8
e - 5 BEFETH AL T H 14312 66, 000 67,200 | A 1.8
BEH - 6 e TH /I = FE 257822 75, 500 74, 500 1.3
BEH - 7 BEEE /N IETAT H1901%5 39, 000 42,300 | A 7.8| vnEETa—2—1 7]
BEH - 8 BEHETPE /NI4T B 105224 69, 500 71,700 | A 3.1
BEH - 9 BEETH T 7 i 2 PN B 9 1255383 74, 000 73, 500 0.7
BEH - 10 Ped T BN AR 1947 11 37, 000 38,000 | A 2.6
JE - 11 BERE T I T = A 121372 62, 000 62,500 | A 0.8
BEEE - 12 BEEE TR AE S U T H 44732 43, 300 43,500 | A 0.5
BEH - 13 PEFTH — A5 — 120520 37, 100 38,200 | A 2.9
BEH - 14 Jedt T BB 7937 3 38, 500 38,700 | A 0.5
e - 15 BEEE TH A A i K £8208% 30, 500 32,000 | A 4.7
BEEE 5 - 1 BEEE T2 ETS T H 102%& 444 69, 600 73,300 | A 5.0| EHT3 —3—3 7]
BEVE 5 - 2 BETHARTAT H710%1 59, 900 64,200 | A 6. 7| TAETA—10-31
B - 1 )i R3T BH51%% 71, 800 71, 800 0.0
)1 - 2 HNH L2247 61, 500 61,600 | A 0.2
# - 3 BBl T BH20%& 194} 50, 500 50, 500 0.0
#11 - 4 sk~ 2T H6d13 64, 400 64,600 | A 0.3
# - 5 HNTH AR 1T H212%&4k 65, 800 65, 800 0.0l a1 —16-12]
# - 6 B S HES61%34 46, 500 47,100 | A 1.3]| %514 —1 3]
#11 - 7 BT B T-E 2 4283725 32, 800 33,300 | A 1.5
# - 8 BT ARS HEE1410%9 32, 600 32,700 | A 0.3
# -9 BIINHE » 1T H19%11 48, 000 48,400 | A 0.8
B — 10[s e [ A EE = = &N 1138%:3 23, 200 - -
)1l - 11 B T = /A4879%5 14, 500 15,600 | A 7.1
)1 - 12 FH 1T R 5~ R 8367 1 12, 400 12,800 | A 3.1
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#I5 1 B BREI8F 4N 142,000 | 142,000 0.0
Il 5 2 BT PERT4175%3 69, 600 70,300 | A 1.0
Il 5 3 HIHmE2 T H11%&1 104, 000 105,000 | A 1.0] TRI2—1—1 6
W) 5 4 )1 TR T T RIT 733 22, 200 23,400 | A 5.1
B 5 5 I T AU T Bl 41455 1 29, 300 30,800 | A 4.9
B 5 6 HMI T T — O BE2507% 14 49, 300 49,500 | A 0.4
) 9 1 BT N EEARTHE 243574 28, 000 28,500 | A 1.8
R 1 AT M BT A L378 120 70, 300 69, 700 0.9
1253 2 R T 13T H 103&5 68, 000 68, 000 0.0[ atims—10-6
1253 3 JREEE T I HE3 T H 1979 104, 000 | 103, 000 1ol rmms—19-10y
A 4 FEEE T a1l T B 18471 75, 300 75, 000 0.4] &M 1 —9—5]
i34 5 FERCTHZSHT2 T H 1035384 64, 700 64, 700 0.0 T&MT2—12—5)
1353 6 FREA T P B 54 1 H 1373 81, 700 81, 700 0.0 rmraa—13—3)
R 7 AT P 26 % 15 48, 000 48,700 | A 1.4
[i353 8 R A2 T H430%5 65, 500 65, 500 0.0 TEk2—6—3]
e 9 R THERS T H 12131 58, 800 59,500 | A 1.2| #EM5—24—19]
A 10 R /A )IET2T H 818644 80, 000 79, 500 0.6| mairz —a—23)
R 11 R L -E4 T 514 62, 000 62, 000 0.0 Mit+ma—5-38]
1253 12 FERASE T i) 08 T 3]0 = KA RT3 787K 1 48, 000 50,600 | A 5.1
JERAX 13 A T B T A S T2 19K 23, 200 23,500 | A 1.3
1253 14 R T RT3 T H 2788 47, 000 46, 500 1.1
A 15 R T T4 R56% 43,100 43,100 0.0
i34 16 FERASE T [ S5 T A L 2T D BE458 % 44 32, 400 32,700 | A 0.9
Wk, 5 1 JEERE T = P21 2144 77, 000 77, 000 0.0
Wk, 5 2 R E 1T H 153194+ 111,000 | 110, 000 0.9 rmm1—15—13]
Wk, 5 3 R T B R TS 409% 104} 63, 500 63, 200 0.5
R 5 4 R TR L2 T H 9813 75, 000 75,500 | A 0.7 TRHLI2—9—26]
Wk, 5 5 JRE S T B T PN o )\ S 623K 45 56, 800 58,900 | A 3.6
Bk, 9 1 JER L TH 18 T2 ¥R 1586 % 1 45, 500 45, 500 0.0
R 1 T ) 1 ey B - R 4573 8 77, 800 77, 800 0.0
TR 2 T s 5 v A - k) HH 1528 % 4 96, 000 96, 000 0.0
R 3 T e T AL i B AT 736k 67, 500 67, 500 0.0
R 4 TS TG 1/ A116297%4 86, 600 86, 600 0.0
TR 5 T A T R IR I 2388 114 64, 400 64,600 | A 0.3
R 6 T TH AL R 7 15 3562375 72, 300 72, 300 0.0
TR 7 T B 35 v e 1 L1 R 3 16897 10 50, 000 50, 000 0.0
RS 8 T P A v R L R R R 84284 51, 000 51, 000 0.0
EE 9 TBSE T ) EHF R X AV 1158% 14 64, 100 64,200 | A 0.2
R 10 TS T P TR 11167478 25 47, 400 47,600 | A 0.4
Y 5 1 HEEEE T )1 B SRR A 643544 97, 000 98,000 | A 1.0
B 9 1 RSB 1T H 948 194 26, 400 26, 400 0.0
& 1 WA L3 T H3%12 64, 000 64, 000 0.0
s 2 ASH T ERT 155214k 61, 600 61, 600 0.0
[=E8 3 LT B 1591 58 33, 800 34,000 | A 0.6
L3 4 I FILALL T H10%18 48, 800 48, 800 0.0
& 5 LRI AR T/ 32190578 37, 300 37,500 | A 0.5
L3 6 WIS FEEH312%ES 21, 200 21,300 | A 0.5
s 7 WIS & 178474 16, 500 17,700 | A 6.8
[=E8 8 LI EE HE T L H 135757 35, 200 35,400 | A 0.6
R 5 1 AR HT 14954 63, 000 63, 000 0.0
R 5 2 I E LA A R 8143 341 49, 500 49, 500 0.0
R 5 3 I EE F T H 12025 1 38, 700 39,200 | A 1.3
R 9 1 LT IR T i 548 % 1 35, 200 35, 200 0.0
T H 1 THMAT H748%45 54, 900 54, 600 0.5| TATH38—16]
T H 2 THMAT H389%15 55, 800 56,800 | A 1.8] TSTHS8—6 |
TH 5 1 THH— T HI137%4 92, 600 93,500 | A 1.0 T—TH3—9]
il 1 PR TR (R AT 2168 11 97, 300 96, 300 1.0
B 2 0 T A2 B - RS 1103723 101,000 | 101, 000 0.0
EL g 3 PR T - ] 15227 13 75, 300 75, 300 0.0
& B 4|33 [ By T LS /N 8 15 T4k 108, 000 -
5B 5 A T 2SS -4 IR 14657 34 82, 500 82, 500 0.0
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i 6 PRI TR T 31127 32 64, 300 64, 300 0.0
B 7 8 T A oy 5 7 62175 16 70, 500 70, 500 0.0
il 8 MR 28 L SR 225575 1628 7,070 7,280 | A 2.9
5 1 P TE F R44235 291 120, 000 120, 000 0.0
e 9 1 PRET TR IRFRR L T 8E 241 41, 500 42,000 | A 1.2
e 1 P N4 ) 110408 19k 70, 500 70, 500 0.0
e 2 TIVE M P 2 A 7 39735 67, 700 67, 000 1.0
e 3 T 78 T T S T T ) [R5 338076 360 27, 000 28,500 | A 5.3
i) 4 578 T BT 2T o 1T UL D 39433%: 67, 000 67, 000 0.0
15 v 5 T P8 T P R i 2820 7 6 29, 600 31,500 | A 6.0
Nl 6 T 76 T 3 2 T AL A 39 16 3% 41 29, 000 20,800 | A 2.7
W 5 1 IV AT 3 T B 13381374k 82, 200 83,900 | A 2.0| (#HFRE3—3—33]
i 1 T P8 T & LA 134253k 24, 300 24, 300 0.0
Fr 1 FHE R IR T O 1807 1 60, 000 62,000 | A 3.2
isa 2 FremiEEFT 65153 56, 500 58,500 | A 3.4
Gil=a 3 P s EAT34% 1 35, 500 36,500 | A 2.7
Gil=A 4 o RS TP 26668149 39, 200 41,300 | A 5.1
Jto. 5 PE iy BERELTE 31, 500 32,500 | A 3.1
Jto. 6 FrE i EATIA80%E 1 30, 500 31,500 | A 3.2
g 7 FEHG) 5 X354%1 17, 700 17,900 | A 1.1
Po 5 1 AR TR T 626754 99,000 | 100,000 | A 1.0
g, b 2| B | Ot oo IR T E iR 456 %S 58, 300 - -
Fo 5 3 e 7 PR Mg 35572 44, 000 45,000 | A 2.2
Jtg. b 4 Fr o 546073 45, 100 45,700 | A 1.3
B RiTIR 1 A ETIR T A T/ IR15653% 19k 17, 400 17,900 | A 2.8
BTG 2 A AT T A 7 TP A4 78 1 12, 300 12,800 | A 3.9
B RTIR 3 A AT T ) T-E 1104758 15, 600 16,000 | & 2.5
B RiTIG 4 FERITIFE T B2 AR B3727 10 19, 300 19,500 | A 1.0
HETE 5 1 AEVRITIRT T T o TR REE326 18341 27, 000 27,300 | A 1.1
251 1 N HRI2 T H106%1 44, 200 44, 100 0.2
ES0] 2 A )1 T AT B TR 1043% 24 22,900 23,400 | A 2.1
)1 3 AN BT 432 190884 11, 700 12,000 | & 2.5
%5 1 )50 H 17516 64, 200 65,200 | A 1.5
o 1 F 5 O [E T F [ 75 T 465%3 73, 600 74,000 | A 0.5
oo 2 FrEoETT KT 0583 85, 700 85, 700 0.0
ol 3 P EOETRAT A} 5620851 86, 500 86, 500 0.0
FrEoE 4 JHE DOE T =& T 15076 81, 100 81,500 | A 0.5
o 5 GO E T )1 712059 83, 400 83, 400 0.0
FrEoE 6 o D E Ty T 5 R 76082 57, 000 57,700 | A 1.2
HrEOR 7 a0 E T EE L IR TR /A 122435 354 8, 300 8,400 | A 1.2
eoE 5 1 FEOOETHETH 224152 95, 900 95, 900 0.0
FaoE b 2 e E TR g5 73334 105,000 | 106,000 | A 0.9
fruolE 5 3 P OETHEF M/ #7299%11 88, 000 88,500 | A 0.6
Moo JR 1 Bz AR 5 R T-0U O 41732 31, 000 31, 000 0.0
2 R 2 Poz R HL T H 507 44,900 45,100 | A 0.4
2 R 3 Yoz R aiEE 7B 2 BE230639 27, 800 30,100 | A 7.6
W2 5 1 PoZ R R T H17% 47,500 48,500 | A 2.1
B2 5 2 Moz ST R A0 R 486 79 34, 700 36,500 | A 4.9
) 1 B TR 61657 1 20, 000 20,700 | A 3.4
HHFE 1 BRI ZR B AT b K% 1280%37 29, 400 30,000 | A 2.0
HOE 2 A AR S ST 56475 1151 44, 500 45,500 | A 2.2
HtG 5 1 A AR R T TR TS K417 1 66, 200 67,500 | A 1.9
T 1 A AR T L T AR 1260778 21, 600 21,700 | A 0.5
RES 2 AR ERRA AN A 4 B - [ 64355 29, 200 29,800 | A 2.0
W 5 1 AR T 5 o HL4953%:8 43, 400 44,100 | A 1.6
R 1 AR Y ST 3 L SR505% 12, 700 13,100 | A 3.1
O 2 A ST A/ Aii343 % 146 21, 100 21,700 | A 2.8
A IRy 1 B SRR T VT 28 52) || AR 713565 36, 900 38,100 | A 3.1
N 2 A AR T 75 T 75 3972 16, 200 17,000 | & 4.7
N 1 AR TERRAA R M YT 4% - 1 [ 2428 94 56, 500 58,500 | A 3.4
[EREiNs) 1 AR P Y ST [ -5 A 2 156563 159+ 31, 000 32,300 | A 4.0
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P - 4 BEUSHRPE Y T B B R I 6637 1 28, 400 29,500 | A 3.7
BT 5 - 1 BB BT A TR 2708 1 51, 600 53,200 | A 3.0
EIE - 1 FH 5 BRI A T 7R/ RiT25729 108,000 | 107, 000 0.9
] - 2 FH 7 0 1 e BT 3 A 5 S L FH 1007691 98, 500 98, 000 0.5
i - 3 FH 5 0 1 e BT T 7 3 90,685 35 7 98, 500 98, 000 0.5
i - 4 FH 5 B0 B i T A A ek L 723 76 32 77, 900 78,300 | A 0.5
R - 5 FH 5 BB B pE BT R AR b AT 36 78 1241 91, 400 91, 400 0.0
B 5 - 1 FH 5 0 ¥ P BT R ey A 5272 111,000 [ 111,000 0.0
1% K HT - 1 B HURRIE AT G K 218864 | 116,000 | 116, 000 0.0
1% K HT - 2 B HURR IS KT AR L T4 B 60,2276 144 127,000 | 127,000 0.0
15K HT - 3 B SRR I A BT A 5 FH 10837 4 95, 700 96,200 | A 0.5
EAKET 5 - 1 R BURRTE AT IR AP a2 14337 136,000 | 137,000 | A 0.7
E5 - 1 B BB S SR IT Y — A7 KAR663K 33 109, 000 [ 107, 000 1.9
E5 - 2 ER AR ST AP s R 440724 | 116,000 | 114, 000 1.8
ER - 3 B AR SR AT i - A 50 318 25 33 133,000 | 132,000 0.8
FR - 4 BRARE RUT FRET T 7 7 28979 66, 300 66, 300 0.0
ER 5 - 1|BEEE[BEHEEE RN T LT - 1347F 15| 134, 000 - -
/N - 1 R BRSNS LT IR 7761352 50, 000 50,200 | A 0.4
/N —  Q|BRERER | BR AR /NN E VBT 2 AET437K 18 48, 300 - -
/N - 3 BR R/ IIT ZEAET H 1M 1523 14 27, 400 28,000 | A 2.1
/N - 4 B AR /N LT S T AR 647 1 22, 400 23,100 | A 3.0
/N - 5 B SRR /IS LT 5 AR T 76 2 7 8 1% T 39, 400 39,600 | A 0.5
/N - 6 B AR /)N LT M BE 2 L IR 49375 32, 400 32,800 | A 1.2
AN - 7 B AURR /N LT A IR B R883 7 1 1 30, 000 31,000 | A 3.2
T B SRR /N | LI R il - 7K A 54 5 27 51, 000 51,500 | A 1.0
E - 1 BRIFURR & FH T 75 ) || 53798 7 38, 900 40,200 | A 3.2
= - 2 FEJEURR 25 FH T A [ 5 B R34 15 10 41, 900 41, 100 1.9
& 5 — 1 R JFURR & FH T 5 A 22327 11 34, 800 37,800 | A 7.9
JIARA - 1 BRJEAR N ARAHT | & 2 57 10507 1 17, 800 18,300 | A& 2.7
JIFRA - 2 PRIFAD AR AT 78 1L 528 B # 146254 12, 400 12,800 | A 3.1
JIRA - 3 BRJERR) | AR ASHT T-8H TR AR 100135 35 13, 200 13,600 | A 2.9
JIARA - 4 BRIFURR) | AR ASHT B SR - Fif B 1231872 4,300 4,350 | A 1.1
JIRRA 5 - 1 BRIEER) I ARANT T9ET R w2 F 1215884k | 27, 500 27,600 | A 0.4
B - 1 JE AR AR R SE A 112743758 30, 800 31,400 | A 1.9
F - 2 JE A ARIT A P S HE R 62375 16 28, 600 28,800 | A 0.7
s 5 — 1 JE R RRARNT 2R T+ AR AT 10033865 40, 400 41,200 | A 1.9

10

* Il A REDHE B RETRY




